PHY 321 Quiz E Tuesday June 23 Cjo /u ﬁa" /<€7]

1. The chain falls onto the table, starting from rest suspended vertically just above
the table surface . The chain has mass M and length L. What is the force on the table,
as a function of time? Assume the chain does not bounce.

2. A train car is pulled at constant velocity v = 2 m/s, under a hopper
that drops coal into the car. The mass of the car is Mg = 10,000 kg. The
total mass of the coal is M = 19,000 kg. The rate at whichthe coal is
dumped into the car is p = M/T where T = 4 seconds. Calculate the
force F that must be pulling the car.
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Next 2 weeks of the course:
Reading Chapter 3 — Oscillations

Homework Sets G and H





